



Name: _____

Date: _____ Score: _____

$$\left(-\frac{2}{5}\right) + \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right) + \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right) - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^0 + \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{5} =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{2}{5}\right) + \frac{3}{4} = \frac{7}{20}$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{5} = \left(-\frac{4}{45}\right)$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{2} = \frac{109}{216}$$

$$\left(\frac{3}{4}\right) + \frac{2}{5} = \frac{23}{20} = 1\frac{3}{20}$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{4} = \left(-\frac{75}{64}\right) = \left(-1\frac{11}{64}\right)$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{3}{5}\right) = \frac{102}{125}$$

$$\left(\frac{1}{6}\right) - \frac{2}{5} = \left(-\frac{7}{30}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{1}{8}$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{13}{45}\right)$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{6} = \frac{131}{750}$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{67}{192}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) = \frac{11}{100}$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} = \left(-\frac{17}{36}\right)$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{6}\right) = \frac{287}{750}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{48}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{5}\right) = \frac{653}{1080}$$

$$\left(-\frac{3}{5}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{5} = \frac{59}{320}$$